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Mathematics

1. The value of sin 30°cos 45° + cas 307 sin 45° 8. If AandB are two sguare matrices such that
w18 . V3 B= A7'BA, then (A + BY will be equal to
> 22 (@) 0 (b) A® + 2AB + B
(© e, () v3 fu) AZ 1 B i) A+ B
3 2 9. Consider the system of linear equations
2. The solution of AABC given that B =45°, € =105 and 3%, + 7%, +%, =2 '
c=vZls _ — X, + 2% + x5 =3
(@ A=30", a=+3-156=v2(f3-1) 2x] + 3% + 4x; =13
(b) A=30% a=+3+ L b=+2(3-1) The system has
(@ A=30° a=1-+3 =42 (43 +1) - (a) infinitely many solutions
(d) A=30° 4=nf3 -1 b2 (a3 +1] {b) exactly 3 solutions
b ’ {£) a unique solution
3. ftan 6="", then the value of acos 26 +bsin289 is [Fy SRS
@l b a ) 10. If &, P are the roots of the equation x* —2x + 4 =0, then
a‘ g Sl the value of a® +p° is
(mg (d)a+ Z (a) B4 {by 128
— (c} 258 () 132
4. The general solution of V3 cos x +sinx =3 is 11. If 6 is the angle between aandb and {ax b |=|a b,
{a) Znm + X ) 207 £ Z then & is equal to .
! ; 3 {a) O L
{e) o solution () amt = ()72 (dym/ia
B 12, ABCD is a parallelogram with AC and BD as diagonals.
1—tan® 15° , Then, AC - BD is equal to
5. The value of e (a) 4AB . (by 3AB
1+ tan® 15 _ (C} 2AB (dy AR
@ jﬁ B 13. If sinx, cos x and tanx are in GP, then cot® x —cot’ x
@) = {d) 2 will be equal to
‘ (a) 2 (-1
6. A random variable X has the following probability {cy 1 (d) O
distnbution, . 14. The greatest angle of the triangle whose sides are
x 10|11 2i3i4f5 |6 7|8 Frx+lax+1 x5 -1, s
P(X=x) @ 325 7a |9 |1la|13a}15a]17a Ef‘; 1‘;’2: EE; fg;
Then, the value of *a’ is. ' 15. The general value of € satisfying the equation
(ay 1/81 thi.2/82 2sin® -3sinB-2=0, is
(¢} b/81 d) 787" ﬂ -
iy el P
7. The sum of 17° + 12° + .+ 30 (@) nm + (-1 6 (B) o +{ 1]_ 2
{a) BUYO -{b) DUV oy pqym OF _n IR
©) 1080 ) 9700 (e nre 4+ (=1) . (dy nm + (=1) )
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1% If 2x +3y—-6=0 and 9x + 6¥ — 1B =0 cuts the axes in 28. Solution set of the inequality
concylic points, then the centre of the circle is 1 o
@ (2. 3) (5) (3. 2) logs (x +2)(x + 4} + log, ;4 {x + 2} < 5 log; 7 is
(cy {5, B) (d] (572, B/2) (a) {2 —1} by (=2,
17. The number of distinct solutions (x, ¥) of the system of () (-1.3) (d) (4, =}

21,

24

25,

21

equations x° = y° and (x
teal number, can only he

@0, 1,2 3, 4or b by 1or3
(Ll 1, 20r4 () 2, 3urd

. The vertex of parabala y* -8y —x +19=0is
(a] (3. 4} (b (4, 3)
(3 (1, 3 (dy (3. 1)

. The eccentricity of ellipse 9x* +5y% —30y =0 is
() 1/3 (hy 2/3
(c) 374 () 14

If the function f:f1, «) —[1, ) is defined by
flxy=2% Y, then £ (x) is

(a) (142" 7" (b)%{i +.J1+4dog, x }

© 1 {1-J1+4log; x)  {d) not defined

A polygon has 44 dmgonals the number of its sides is
{a} 8 (b) 10
() 11 d) 12

Let X be the universéi set for sets A and B.

If n{A)=200, n(B)=300 and n{A~EB) =100, then

A’ ~ B') is equal to 300 provided n{X) is equal to
(a) BOO {b} 700
{c) 80U {d} 900

. In a college of 300 students, every student reads

5 newspapers and every xnewspaper is

60 students. The number of newspaper i§
{a) atleast 30 {b} atmost 20
{c) exactly 25 {d} exactly 28

The anumber of ways of forming different nine digit
numbers from the number 223355888 by rearranging its
digit, so that the odd digits occupy even positions is
Ay 16 () 36 '
(c) 60 {d) 180
An anti-aircraft gun can take a maximum of four slots at
an eremy plane moving away from it. The probabilities
of hitting the plane at the first, second, third and
fourth slots are 0.4, 0.3, 0.2 and 0.1 respectively. The
probability that the gun hits the plane, then is .

read by

fa) 0.5 {b) 0.7235

(¢} 0.6976 W 1.0 _
The least integral wvalue of &k for which
(k-2)x* +8x + k+4 >0 for all x R, is. _

(a) 5 (b) 4 {c) 3 RUV

: 2
- 2n

If for neN, D (- sznJ] = A, then the value of
k=10 .

— 2n Z‘
> - (k—En)[[k]] is

(a) nA
(c1 0

(b} —nA
(d} A

—ef + y¥-=1, where ‘a is any -

N

32

35.

.

If three positive reat numbers a, b, r (¢ >a) are in HP,
then log{a + ¢) + log{a —2b + ¢} is

{a) 2 log {c — b) By 2 log (a+c)

(c) 2 log (¢ — &) {dilocga+log b~ loge
The ‘area enclosed within the lines |x |+ |y |=11s

@l 1 k) 2

3 (d) 4
If the mean of the squares of first n natural numbers be
11, then 1t is equal to

(@) ——
{c) 5 (dy 4

The probability of a razor blade to be defective is 0.002.
The blades are in packet of 10. The number of packets
contammg ne defectwe blades in a stock of 10000

{b) 11

packats is
{a) 2000 (b} 4802
{c) B850 (d} BOOD

Two warables have least square regression lines
3x +2y =26 and 6x + ¥ =31, then correlation between
xand y i3

tay 0.5 th) 0.7 (ch— {dy —05
A car completes the first half of its journey with a

velacity v, and the rest half with a velocity v,. Then,
the average velocity of the car for the whole journey is

. .4
() 7L 5 g by oy vy
{c) Bvivg {dd) Nane of rthese
v+ v

The mean of first n natuzal numbers is equal ta j,

then « is equal to

{a) 9 (b} 10 ) 11 (c) 12
J'”z B will be equal to
o M’Jx ¥

(@r/z . (b} w3 (dn/4

If the area bounded by-y,:xz and y =x is 4 sq umnits,
then the area hounded by y =x” and y=11is
(8) (2A 4+ 1} s units " (h) 2A s8g units
{e) (2A + 2) sg units {d} (A + 2) =q uniis
If a,bande are unit coplanar vectors, then the scalar
triple product [2a-bh, 2b -¢,2¢ T_a] will be equal to
() 0 (B 1 ©-v3 (@43
Let a=xi-3j—kand b=2x1i+xj— k. Suppose that
the angle between a and b is acute and the angle

" between I:l and the positive direction of the y-axis lies

between = T and Then;, the set of all possible values of
X i3

(ay{1 2} (hy{-2, -3}

ey x:x =<0} tel) { x .2 >0}
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40, Let v=2i+j-kand w=i+3k If uis a unit vector, (a} only one (b} two
then the maximum value of the scalar triple product (c} three {d} four
[uvw]is o Fod L 05 5 )
’ i K — oz
(@ -1 _ (by /10 — /6 BE & X J'
€} <59 (@ ~10 + VB L B ¢ A D
#1. The minimum value of px + gy, when xy =r° is 2x 5 2 4 2
@2 ripg (h) 2 pgr (€} 2x + - x Ve (d) Mons of these
ey -2 7 pg {d) /par . m i
42. TF o’ is a positive integer, then the number of values % (x —cos x) ks equal to
satisfying {a} 0 (b3 1
/2 | »fcos3x 3 | {c) =1 {d) hone of these
_r; a + Zeos x 4 -
4 4 a5, If f{x) = jo tsint dr, then f'{x) is
« 2 5
+asin x - 20 cos x} dx < = is {a}cos x + xsin x (B) x sits x
3 {c) xcos x () x~ /2
Du:ecuons (0. Nos. 46-48) Read the mﬁamahon given . ‘Honest, educated and hardworking non-urban people are
below and answer the questions that follow. indicated by
Four persons 4, B, C and D play a cards game. They put {a) 3 (h} 4 {o) 6 o
T 500 as stake money. When the game is over '’ receives 52. Mr X left his entire estate to his wife, his daughter, his
¥ 19 more that ‘I and ‘B’ receives ¥ 21 less than ‘4’ whose son and the cook, his daughter and son got half the
amount was T 2 less than the quarter of T 500. estate, shafing in the ratio of 4 to 3. His wife got twice
8. How much money did €' get? as much as the son. If the cook received a bequest of
(@) T 147 (D1 138 500, then the entire estate was
(0T 144 () ¥159 tay ¥ 3500 () T 5500
—_ § S (c} L6500 (d) T 7000
' Ot‘:] ;n;i gz MeRey QEtEb}?m? 53. At a dance party a group of girls and boys exchange
()2 10B (@ T 110 dances as follows. _ ‘ )
; 4 One boy dances with 5 girls, second hoy dances with 6
48. Who get the highest amount? girls, and so on last boy dances with all girls. If b~
(@ A (b) B (a} € (@) D represents the number of boys and' g represents the
Directions (0. Nos. 49-51} In the following diagram number of girls, then -
circle stands for ‘educated’, square for ‘hardworking', alb=g byb=g/ib
friangle for ‘urban pecpie. and rectangle for ‘honest’ (€} b=g-24 ldrb=g-5
Different regions in the diagram are numbered from 2 to 54. The average age of husband and wife was 22 yr when
12. Study the diagram cerefully and answer. they were married five years back. What is the present
: average age of the family, if they have a three year old
chitd?
educated (a) 18 yr (hy 25 yr
{c) 27 yr () ZS%W
: 55. Which of the  following will be acceptable for
honest establishing a fact?
{z) Opinion of large number of people
12 {b) Traditionally il practice over a long periad af tima
h an}workin g {c) Availability fyf 0bserva} ble eyidenceﬁ
) o {d) Refercnces in the ancient literature
49. Educated, hardworking and urban people are indicated by Directions (Q. Nos. 56-59) Six scientists A, B,C. D. E
za}; (S) i and F are to present a! paper each ai a -ore-day
o | . ) conference, Three of them will present their papers in the
80. Non-urhan educated people who are neither hardworking

nor honest are indicated hy
(a) 5 (b] 7
(c) 10 () 12

morning session before the lunch break whereas the other
three will be presented in the afterncen session. The
lectures have to be scheduled in such o way that they
comply with the following restrictions.
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B should present his paper immediately before (s
presentition; their presentations cannot be separated by
the lunch bregk. D must be either the first or the last
scientist to present his paper.

56. In case £ is to be the fifth scientist to present his paper,

65.

On a particvlar day, Mrs Thomas decided to complete
20 "Little flower uniforms. How many May flower
uniforms can she complete on that day?

{a) 30 (b)-40

{cy 20 {0

then B must he 66. If she hires one more assistant, what is the maximum
() fiest 15— number of May flower uniforms that she can complete in
{c) third {d) fourth a day? i
52. B could be placed for any of the follewing places in the ES; gg f};: ;g

order of presenters EXCEPT

In a certain code, RIPPLE is written as 613382 and LIFE

(a) sacond (b} third 67. : ; . ; "
(c} fourth () fifth is written as 8192, How is PILLER written in that code?
5 (L .
58. In case F is to present his paper immediately after D :E:; giggsg (E; gég:?g

presents his paper, C's could he scheduled far which of
the following places in the order of presenters?
(a) Second {h) Third
(¢} Fourth (d) Fifth )
59. In case F and E are the fifth and sixth presenters
respectively, then which of the following must be true?
(a) Ais first in the order of preseniers
(h) A is third in the order of presenters
(c} A is fourth in the order of presenters
(d) Bis first in the order of prosenters

Directions (0. Nos. 60-83) Study the following
information to answer the given questions .
(i} In a family of 6 persons, there are two couples.

(ii} The lawver is the head of the family and has only two
sons-Mukesh and Rakesh both teachers. '

(iii) Mrs Reena and her mother-in-law both are lawyers.
{iv) Mukesh's wife is a doctor and they have a son, Ajay.

B0. What is the profession of Rakesh's wife?

A doctor said to his compounder “I go to see the
patients at their residence after every 3:30 h..I have
alveady gore to the patient 1:20 h ago and next time [
shall go at 1:40 pma”. At what time this information was
given ta the compounder by the doctor?

{s) 10:10 am {k) 11:30 am

{c) 11:20 am {d)Y None of these

Direction (4. No. 69) In the, following question, three
statements are followed by a conclusion. Study the

- gtatements and the conclusion and point out which

statement studied together will bring to the ronclusion.

Statements
- (i) Price rise is natural phenomenon.
(ii) If production increases prices fall.
(iify High prices affect the poor.
Conclusion If production rises the poor feel relieved.
Answer choices

ta} Onky (i) and {ii) () Only (1) and (iii)

ii; ::E:::rr :Ej E’SELO;IC = () Quly (1) and (1) {d) Data nsufficient
; 5 70. In how many different ways can the letters of the word
5
L HO{; ?jﬂy male members are(;:)h;:;;: the family? “DETAIL” be arranged in such a way that the vowels
{5: Four () Nia opthese cccupy only the odd positions? .
{m) 32 {b) 36
62. What is/was Ajay’s grandfathers occupation? {c) 48 (d) 60

Eg‘) Eiifg:r 53; é:‘:;’;ﬁf O . If from 4 to 55 the numbers which are divisible by 3 and
’ ' the numbers which contain 3 as one of the digits, are
62. What is the profession of Ajay? removed, then how many numbers will be left?
(a) Teacher {b) Lawyer {a) 24 (b) 23
{c) Doctor (<) Cannot be determined {c) 22 ) 25
Directions (0. Nos. 64-66) Mrs Thomas received a 72. In the following number-series, one term is wrong.

large arder for stitching school uniforms from May flower
school and Little flower school. She has two cutfers who
will cut the fabric. five tailors whe will do the stitching
_and two assistants to stitch the buttons and button holes.
Each of these nine persons will work for exactly 10 A «
day. Fach of the May flower uniforms requires 20 min for
cutting the fabric, one hour for stitching, and 15 min for
stitching buttons and. button holes. whereas the Little
flower uniferm requires 30 min, 1 h and 30 min
respectively far these ackivities, :

64. What is the number of Little flower uniforms that
Mrs Themas can complete in a day?
{a) 50 (b} 20
{c) 40 (d} 3C

.

M.

Which term is wrong?

E, 12, 19, 33, 47, 75, 104
{a} 33 () 47
{c1 75 (d) 104

The positicns of 4 in a class is 5th from the top and
position of B is 7th from the bottom. If £ is at 6th place .
after A and 6th place before B, how many students are
there in the class?

{a} 25 (b 23

(© 21 ) 22
Suppose X =27 ¥ =30 and Z =4'". Exactly one of
the following is true. Which is it?

(X +V -7 MX+VeZ

CAX+Y =2 )Xy =2 .
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75. Assume that the following three statements are true.

76.

.

78.

78,

B1.

A. All freshmen are human,
B. Al students are human.
€. Some students think.
Given the following four statements.
I. All freshmen are students. '
[I. Some humans think.
III. No freshmen think.
IV. Some humans who think are not students.
Thase Which aré logical consequencas of I, IT and [I are
{a) Hl (L} IV
{c) 1L 11 (dy 1. 11

Five persons A, B, C,_D and E were travelling in a car
There were two ladies in the group. Two mew car driving,
of them one was a lady. A is brother of D. B wife of D
drove at the beginning. £ drove at the end. Who was the
other lady in the group?

(Y D (h).B (o) C d) E
Choose which pair of numbers carries next in the
following sequence.
61, 57, 50, 61, 43, 36, 61

(&) 29, &1 (b} 27, 20 {c) 31, 61 {d) 29, 22
Correct the following equation by inter-changing two
signs.
3-9x27+9-+-3=3

(a) + and ~

() xand =

(b} »and +
(d} xand -

Pushpa is twice as old as Rita was two years age. If the
difference between their ages be 2 yr, how old is Pushpa
today? . :

(@) 1 yr (k) 8 yr

() 10 yr Wy 12 yr

. A clock is set right at 8 am, The clock gains 10 min in

24 h. What will be the right time when the clock
indicates 1 pm on the following day?

{ay 11:40 pm ) 12:48 p'm

() 12 noon {dl 10 am
Choose the best answer figure to substitute element 4 in
the problem figures so that element 3 is related to
element 4 in the same way as element 1 is related to
element 2.

Problem Figures

b+ 11

1 p ' 3 4

| 1 e e

(a} (b} (c) {d)

Direction (Q. No. 82) In the following question, below
are given two statements followed by four conclusions
numbered I, I, III, IV. You have to take the two given
statements o be true, even if they seem to be at variance
Jfrom commonly known facts. Read all the conclusions and

NIMCET MCA Solved Paper 2011

then decide which of the given conclusions logically
follows from the two given statements, disregarding
commonly known facts.

. Statements

A, Some green are blue.
E. No blue in white.
Conclusions
1. Some blue are green.
II. Some white are gzéeen.
III. Some green are not white.
Iv. Al white are green,
{2) Only T follovws
{b) Only 1T and [l follaw
{r) Only I and I1I follow
{d) Onty L and 11 follow

Directions (0. Nos. 83-85) In each of the 3 questions
below, are given four statements followed by four
conclusions numbered I, IT, II, IV. You have to take the
given statements to be true even, if they seem to be at
vartance from commenly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commoenly knawn facts.

, Statements Some doctors are lawyers. All teachers are

lawyers. Some engineers are tawyers. All engineers are
businessman.
Conclusions
I. Some teachers are doctors.
II. Some businessmen are lawyers.
TI. Some businessiuen are teachers.
IV. Some lawyers are teachers.
{ay None follows
{h) Onty 1T fallows
{c] Only 11t follows
() Onby IT and [V follow

. Statements All plastics are glasses. Some sponges are

glasses. All sponges are clothes. All clothes are liquids.

Conclusions
1. Al liquids are sponges.
O. Some plastics are clothes.
IO, All glasses are plastics.
IV. Al liquids are clothes.
{a] None foltows
(b Only either 11 or IV foilows
() Only 11T and IV follow
{d) Only T and TV follow

Statements All sands are beaches. All shores are
beaches. Some beaches are trees. All trees are hotels,

Conclusions

1. Some shores are hotels.
1. Al beaches are shores.
IIl. Some beaches are hotels.
IV. Some sands are trees.-
(&} Only IIT [ollows
(h} Only H follows
{c} Only TV follows
() None of the above
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1.

q7.

09

100.

0.

Computer Aw

The ASCIL code of A& is
{a} 66D
[Q] 01040010

by 41H
{d)y 01100031

An eight bit byte is capable of representing how many
different characters?

(a) &4 (b 128 (c} 238 (dy 512
The least significant bit of the binary number, which is
equivalent to any odd decimal number is

() O (1

()1 erQ () All of those
Which of the following Boolean expression represents
the shaded portion of the Venn diagram?

Hare, . repiesents an AN hperation and "+ denotes an GR uperation.

@ 21 [(X-F) W E(X+Y)

Wiz X" )+Y ) Z(X+Y)
Consider x and y be some Boolean variables, '+ denotes
the OR operation and “.” denotes the AND operation.

I have heen working here six months,

(a) since {b) by
(o] for {d) in
Defile
{a) Pullule {b} Disappraveo
{c) Delay td) Revaal

Direcdons (0. Nos. 98 -101) Fach question consists of
¢ word printed tn capital letters, followed by four words or
phrases. Cheose the word or phrase that is most similar in
mearning tc the word in capital letters.

POLEMIC
(&} black
(b} magnetic
(c) grimace
(d} contraversial

The synonym for work FOOLHARDY is

{a) Erudite (b) Unwise

() Rusly {ct} Roll
DEEF

{u) luw - {l distracted

{c} flat (1) avrake
Give the antonym for CRYPTIC.

fa) Futlle {1 Candid

ic) Famous ) Indillerent

a1.

92.

93.

seneral Eng

reness

What will be the simplified from of the Eoolean
expression x -{x + y)?

(a) ¥ (b 1
_{mn (@) x
Which one of the following is not a valid rule of Boolean
algebra?

(aA+1=1 (hy A— A"

C) AA=A i AITO=A

When two hinary numbers are added, then an overflow
will never oceur, if
{a) bolh numbers of samc sign
(b} the carry into the sign bil position and out of sign bit
position are not equal
(c) the carry into the sign bit pesition and oul of sign b
pasition are egual
(td) the: carry w1lo e sign hit positionis 1
The sum of 11010 = 01111 equals to
{n) 141001 th)y 131010
{c) 110101 () 101000
Which protocol needs to be installed for Internet access
on a network?
{ay TCRTD (b) TELKET
{0) [FE/EPH {d) Nt BEUT
A petabyte represents approximately
(ay 1000 gigabytes {h) 1000 kilohyres
(cy 1000 torakytios {d) 1000 yartabytes

ish

Directions (0. Nos. 102-111) Answer the following four
guestions based on the given paragraph.

A recent expeririental study showed for the first time that
pulmonary exposure to the Particulate Matter (PM) within
diesel exhaust enhances atherogenesis. The human blood
vessel endothelium is a sensitive target for air poliutants.
The interactions of the inflammation and coagulation
systems are of the main mechanisms involved in
impairment of endotheliat function and eventually
cardiovascular diseases. The effect of air pollution on
inflammation, oxi{dative stress and cardigvascular risk
factors has been demonstrated not onty in older adults,
but also im young adults as well as in children and
adolescents. The inflammation process stimulates the
coagulation system and result in increased secretion of
Tissue Factor {TF). Endothelial funetion has key roles in
anticoagulant and fibrinolytic systems. In vitro studies
have demonstrated significant decrease in endogenous
anticoagutationn activity, Thrombo Modulin (TM},
endothelial protein C receptor antigen and culture of
endothelial cells during the inflammation process. A
growing body of evidence suggests that the effects of air
pollution on the inflammation and the coagulation
systems may have a role in endothelial dysfunction and in
turn in the progression of cardiovascular diseases.
Findings of experimental studies suggest that expasure to
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104.

105.

106.
107.
108.

169,

air pollution may result in increase in TF and decrease in
TM. Atherogenesis starts from the fatal life through
interrelations or traditional risk factors with
inflammatory, immune and endothelial biamarkers. Air
pollution has various harmful effects on this process from
early life. Studying the effects of environmental factors on
early stages of atherosclerosis in early life can help
identify the underlying mechanisms,

Choose the option for the human system mechanisms
whose interactions eventually result into cardiovascular
diseases due to air pollution?

{g} Inflammation (b} Coaguiation

() Antigen {d) Both (a) and (b}
Which is the central syndrome talked about in the
paragraph?

{a} Inflammation

{b) Atherogeénesis

(0} Secretions of tissue factors

{d) Thrombo Modulin

Which of the following is true?

{i) Expesure to air palintion may result in increage in
TF and decrease in TM.

{ii) Effect of air pollution is severe on humans and
occurs after adolescence, _

{iii) Endothelial cells are sensitive target for air
pollutants,

{a} All are true {b) Only (i) and (ii) are true

{c) Only {i) and (i) are true {d) ‘Only (il) and (ili) are truc

The primary cause of cardiovascular disease due to
factors discussed in paragraph is

{a} lack of immuniny {h) anticoagulation

() thrombo modulin - Ad) endolhelial Dysfupnction

RETROGRADE
(a) profressing
€] evaluaring

{h) declining
{d) directing

The pesple you socialise are called friends.
{a) with whom (b) whao
f} virith who {d) whom

Every one of them to the music every day.
{a) listen {b) listening
(c} listens (dy None of these

I didn't work hard when I was school.
fa)in (b) o1
(e} at (d) by

NIMCET MCA Solved Paper 2011

110. Wheve are you ___ 7
(&} from (b} by
{c) of d} to
111, Which of these is an adjective in “Tt is ___ "
{&) hard () hardly
{c) hardship td) harden

Directions (Q. Nos. 112-116} For each numbered blank
space .in the paragraph given below, choase the correct
response. '

Paragraph
Books are 112 the most 113 product of human effort.
Temples 114 to ruin, pictures and statuwes 115; but hooks 118,

Answer choices
{a) decidedly

12,
{bhy definitely

{c) by far {d) certainly
113. Answer choices

{a} lasting {h) everlasting

{c] teruporary {d) permanent.
114. Answer choices.

{a] break down ) falt

{c) broken {d) crumntile
115. Answer choices

{a) die {b) decay

{¢) fade {d) disappear
116. Answer choices

(a) live {b) survive

{c) last {d) arc horn
117. Profound

{a) Shallow {b) Sonaropus

{c} Superficial {d) Lafry
118. Give the analogy for Elsusive : Capture ::

{a) Elastic : Stretch

{h} Headsteong : Control
{c} Sensible : Decide

{d} Persuasive ! Convince-

119. The meaning of work EGRESS is
{a) enuance () exit
€} doubie {d} program

Answers ..~ Solutions

. ) ssin30% eos 467 + os 30" sinss”
1 1 3 1
= P X -
AT 2 A7
1443
22

2 (a) Since, LA+ LB+ 2C=180°

L A=180"=45"=105%= 307
sin A" sin B sin

Tising sine rule,

a b
sin30%  sin45®  sini05°
& b 2

120. Choose the wrongly spelt word,
{a) Deficicnt {b) Efficient
¢} Magnificient () Reticent
e A0 _sinis  1x Vi
7a 2B 2 2B xA2
1 . 1 s 2 L 1 "
28 A2b S(M3-1 243-1
= PR S RV Y N

3. (b} Given. ran@ = 2

aras 20+ hsn2

1 —arf U\i, ( 2tan0 |
a — =4 -
1+ tan” 9) 1+ tan” B
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- [ ba'.:f’] [f 2bh/a ]
+ i d 1+bv2!a2
(a +b] [az+b ;
.a(a +h)
a+p

4 (o) Given, 3 cns x +sinx =3
LHS =3+ 148 com x +sinx <3+ 1
= -2<3cos x+sing<?
Here, maximum value is 2, but right hand side is 3, hence
e sojution exists.
Alternate method.
' J3cosx+sinx =3
3 1, 3
— s X+ —sinx = —
2 2
sinfe/3 - cosx-cos /3 sinx 342
sin{e/3+ x)=3/2
JE
But Sin| —+ x|£—
Gt 2
C-lEsinx 51
So, no solution exist.
il — tarf 15° cos? 157 — sin® 15°
Tt tarf 15 cos® §5°4 sirf 15°
_ces30° N3

5 (o

1 2
8. (a} . Sum of probahilities = 1
Satda+ Bt Yot Det 1led 180k Tha + Tia=1

= Bla=1 = a=i
=1

<Y RO B L - o S T Ty o
=P+ 2+ +30) -+ L 10h
[__zn;,__ntn+1)(2n+ 1:}

B
3030 + 1) B0 +.% [m < (104 R0+ 1;]
& 6
BE730 2310 54420
== = = 9070
g B 8
B. () Given, BF=- A'RA
= AB=-BA
== AB+ BA=0 ) |
(A+ B =A"+ B + AB+ DA
=&+ B [from Eg. ()]
9. (@) Given systern of equations is
I+ T+ 0y =2
A 2X x5 =3
23 + 3x + A =13
KA | 371
. lhe woefficient matrix A=|1 2 1){4]=i1 2 1
2 3 4 2 3 4
3(8 F-74-3+1G-4=0
F'5 -2 1" [5 -2 5
| :
adj{A4=,-25 10 5 =|-2 10 -2
L5 -2 -1, |-1 5 -

10-75+865] [0
=| 4130-26(=|0
-2+15-13} [0O]

Hence, it has infinite number of solutions.
Altarnate method

P A
D |

13

Augmented malrix [A, B]

]
o=
W o
R

LA M~

Ao R

;

=3

1
14 2
4 113
3R, By — Ry — 2R,
1

LY

1
£ 3
2
Use operations, R, — B ~
{1 2
~{0 1 ~2: =7
0 -1 2 7
Ry > F | b .
1 2 1 @ 3
~{0 1 -2 -7
) 0 00
Here, Rank of [A, B] = Rank of A
So, the system of cguation is consistent.

Meuo, here rank of A < Number of unknowns 1e.,2<3
Hence, the system bas infinkttely many salulions.

10. (b) Hore, oa+B=gandof=14
= o+ B =4
= o + % +20p =4
= o + P =4 -2A=—
= aly Pt zafpt =16
= o'-p'=16-206 =-18

Mow, ol + BC = (@) + (FY
= ot + pyat + B - AP
-4 (-16-15) =128

1%. (d) Given, |axb|=|a-b|
= fallllb ||sin8]=|jali|b | |cos 8]
b
= |tand|=1 = B:I
12. v “AC=a+bhb
Dy =2 o C
e I
,‘zzf' b
pE S

and BD=h -a
5 AC —BD =2C =2AB
13. 1©) Since, cos® x =sin ¥ tan x
= cos' x=sinl x ] . |
: 2 cos® x  cos" x

cot” x —cot” x=— ——=
S0 X 5”]2 X

2
sm X cost .
S B [frar Ey. ¢l
sin® x  suf x

"1—¢ns® x
sirf x
sift x
el

sin’ x
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. (d) Ir is clear that, tha greatest side is X + x4+ 1

By cosuws law _ s % _
R+ D+ =) = (2 F x4+

A2x 1 DK - D
(2 ~ 1+4x +ix¥ + 1 =255

oos § =

»—(}(’l + 3% -1 -2 FEx+ Exz]]

2x 28+ 8 -1
_—Exs—.\c2+2.‘<+1_ j1
Tazd -2x4+ -1 2
- B=120° :
) Given, 2sin’ B -3sind-2=4
25 B=Adsinft+zinP=2=0n
= 25in0nind -2 +1isin8 -3 =0
= inth~ & 2sinb+ =0

: 1
5inﬂ=—~§,sinﬂ;&2 fur

15.

—_

=

;?Il:‘
B= — =" _]
nn -1 L 5

=

H i % X
16. (d) Given eguation can be rewritien as €+

X WV
L4t =1
2 3
SoLmey inderceps the coordingte axcs arc
AR, B(O,2). 012,00 and 24D,
Lot coguaticen of citdie be
oA 2gx + 2R+ 6D
Since, all poirts arc concvelic,
9+6g+c=0,4+47+c=0
d+dg+ec=0,9+6F+c=0
00 solving, we gst

5
F=--, f===
2 2
S Cenlre of cucle - ]
‘5 5
o[22
L2 g
17. Nurmbe: of distinet solutions g zoro.

dy Casel

y=x

[
LT

y=-x

Case ll., Numbar of distinct splutians is two.

y=x

¥=-x
Case IIl.  Numbcr of distine solutions is three.

y=x

o |

—1 <sinB <1}

=1 and

18.

14.

20.

21.

24

(a}

ik

{c)

(b

{c}

(]

NIMCET MCA Solved Paper 2011

-Case IV. Number of distincr sclutions is four.

Y=

Hence, option (d) is correct.

Given equation 15, }’2 By - x+19=0
S (r~3¢ = x—19+ 16
= (v —4)° = =3

Hence, the vertex is (3, 4).

Given, gx° +5VE -30y =0
- uxd B =By =0
o a9x% +5iy - 3% =45
P
= —_H-q-—::

5 9

ilars, F=nf =%and h>a
~ '|1 i i L2

VTR Y g s

Let po= fix) =297~
Qo Laking log, we got
log, v=x{x =i log 2

= xa—x—lorgy=0
_1t{1+410g;;_3r
= =
.—E ——pn
1+./1+4loy ¥
X =———
2
-
it ylt+4iog x
_f'] (_x}:_v._.._._.g—'
2
Since, tory €11, w09), 4 log, v 20
= 4l+4dlog, y =1
oo iR Y e,
Let & polygon has n sides.
: 0, - n=44
- mon—-"1 o s
2
= nin-3 =58
= nn-3=I111-3 = n=1l

Mow, n(Aw B = a0A + n(B) — h(Am B
=200 + 300 — 100 =400

Also, n{A' m B =300

= nlAw B'=300

= nlX) - alAw B} =300

- Fi(X) = 408 - 400 =730
Let the number of newspapers be n
30 «5=80%xn
=5 7= 25 newspaper (exactly)
Given numbar is 223355888,
Hera, digits ure (2, 2, 3, 3, 5. 5. 8, & 8).
Here, odd digirs are (3, 73, 5, B} and even digits are
(2.2, 8 8, 8). :

In & nine digit numhber, thers are four aven pasition in
which teur odd nuwnber (3, 3. 5, 5] can be arrangad in
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41 . . . - 2ac .
- —- - = and rest of five odd positian, 1ve even numbe 29, (] Sipce b= {givean)
2l =2l a+rc
- El Llag@a+ d+lega+ c-20)
2, 2, B 8 8)can be arranged in =10
4 Y —logf{a+ & —ta+ & 24l
SClotal nurmber of ways =4 « 10 = 61 = tog [{a + a:}z = lag] =log{c— a)z =2log{n—a
5. (o) Given, P(T)~ 04, PN —03, 30, (1) Given, | x |+ [l
P =07, PV =01
= rilh = OEP(m—O?P(HJ;—OB
anc F(I‘L-"l =09
S Required p‘"oba‘ml v
=FD+ PO PUD+ D P(L} ruin
o x
“+ P PiID PO PUV)
=04 + 0603 + D FHD. D07 = (0 &0 TN 1}
=04+ 018 + OCE4 + 00336 = 06978
26. (a) Given, (k—2) x° + Bx+ &k + 150
k- >0 and D0
= Kk r2and D=0 AL = —xtv=1
How 84 - 4”“'2' Atk 1 A <0 Here, ABCD is square whase side
_ & e —
= 18 (k?+2k & <0 BC:-Q12+12=1.'§
= K+ 2k -8 =18 i
2 : . SCArea of square = (vWe) =2
= K+ 2k =241 30
— k + Bllk —4) >0 1. (¢} Acc01d;gir§2 TP q1+ronn condition,
D ARt
-6 o K+ NEn+ 1) _
= F<—@ark A (i) E an
.'.1;|mm Ec:s, (i _and [ii}i WPI getfk_:>_4 ; - 2+ 90 -6B5=0
JoHeove, leasl inlegral valac of & 15 2. c—
2 . -3+ + — 3+ y52Y
27, by Wo know, (1 = x’l‘)‘" =G+ x4+ .+ Cénxdn o, 3 "g__.a KCB a4 "]5'3‘]
Zne - £ 4 4
_Cx +C!< +...+(_,2_J.| ...U,\ ~nf23 13
and(l = 3 =€y =~ Cx + oou o+ 058" L {ii} T
Cn mullinl‘,’]nq Lxgs. (i} and {ii), woe qet : n="5 I reannat be negative)
Q=X =0+ " L+ G 32, b Sane probability of defective rtazor blade is U.0UZ,
w0 — GV + 18 7 therefora, probahility of non-defective razor blade iz
0.998
Qmenpas mg coefticient of x°7 on bulh::iea {7 . Irobabilicy of non-defective razor hlads in ane packet
= R o
bR L}"_ G 1 G & =%y, 981" = 0930179
= i (—n* (2_” y =A tgiven) :..03) . Required nwmiser of packels = DH80178 x 100040
k=0 LK = 8801749 = 9802 (apsrox)
Similarly, we can tind 33. id) Let ling of regression y'on X is
¢ oeeia 3(;'—5‘ . EuC'gn y-.-—§x+13
] '_l~‘2 2 ’ 5
- - a s 31
Zf 1 k[ | =(=1"-n-C, andxrmyisx-—‘—-ﬁ-—
k=0 4 L] 5]
21 . ‘zn X fenY " o
psy |kJ—znZ'—n*[ﬁJ L
E=G kS k=0 . ‘,‘:_‘J(Ex_hxy
== n-C, —2n(=})"-C, e -
3 1 1
=={=1"n C.=—nA fi Eq. (i s || e | oo
| (-1"n- C, n 1|mm g. (i} \’( 2]\5) \/4
2. () Given, log, {x + 3(x + 4) + log,; {x + & ﬁglog_ﬁ 7 . 12 .05
=k s B e b + 7 = log, T=0
ogaiY [:?[: % ,:+ 4?93 LA =lng, 7= 34 () Let o be the distance in Iirst half and second half
= log, ( ‘?}7 CellxllE-2 respectively of the juuwrney. Tine taken in first half and
: X+ 7 d . ;
I+ 4) second half journey are — and — respoctively.
> oy ——— <D, x £ —2 ¥ ¥,
7 : - Tatal distance
w44 Average velocity =————
e <1, x /-2 ) ToLal Lune
it 2y,
= x<d xr—-2 T I
+ v
5 —Baxad Fex< Z2logix t 2 is nol delined] v + v it
1 z
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: n+7
3% (v} Since, mean = -

l+2+..+a_n+7

n 3
alo+ 1) n4 v
= i el e
2n 1
— o+ d=dn4+ 14
= =11
e ax 12 idx
® Bl 7oz ok T
\"" B X — X3 |
V 4 4
3 PENLE
_J‘i_:'Z s dx sin”j k‘——-z ;
— ’_____ ol gt T : : |
LR, L
Y4 L= 5 € /o
=15t (2x 1)13’2
‘ N
= ;o bis T
=s'm'(C))—smW—n=o_[_f|=f
o

37. (&) Since, it is given area af curve (A - A

Now, area ofAOAB-—:]é =1t —é

1
Area of curve OARD A+ E

. Total required area = area of curve GABCD
=Ziarea of\cuwe CABELY
1
=2 [A 4
4
=(2A : 1} sq units
38. (A) .{2a—b)[t7b — &) xPa — A
=Ra-h)-[Zb =2c} — (Ph xa)— D + (c = al}
=[8labcl-0+0-0+0-[bcall
s F e sy I la b o =0 igrven))
19. (5 Sinee, the angle hetween the veatars 2 and h is anite and
n
the angle batween b and y-axis lies hetwaen = and m, it
nesans they ara obiuse.

La-h >Dandb - jad
=(xl =3 -k} @xi+ xj -k} >0

und (dxi 1 xj k)-j<i)
= 2x® —3x —1>0and x <0
= Ex - Ix -1 >0andx<q

P I

i 1 tou

' ! R :
= L:‘f‘:.: orx »1 |and x <0
IS Fl
= P s<d)

. i} Givcn,v=21+j'—k and w =1+ 3k
mvwl=u-{vxws|u|fvw|
: {~a:h<:alibi

=% uvw <iv=w| =1

NIMCET MCA Solved Paper 2011

0k
Nuw, vrxw=g 1 -1L=3-7j-k
h o aj
- |v>-:w|_\lfl.;'-l?1—'?£+—lz—--\.ﬁ

‘ [uvwl =52
1. (a} Givon, xv = o i

LeL U=+ gy [frown Rey. (i)]

£ 7
- u=p_s'+q§—]
\3(

dau 4 L]’}'E
dax e
. N au
For maxima and minimia, put 75 =0
x
z
o, p—"uz =Q==x=*tr fq
X P
e du  zqrt
oW, i
d’ % -
f
AT X=r A4
p
@ >0, minima
dat
-
E 2
SWinimum value sy p R f— +qi- —
s " ]i
_ N Ve
q P
=pr 17 4 qgr
Vo Vg

o' sl el
[ cosdx 3

82, 1t Given, | <4 [ + = cos X]
¢ 4 4 ’.

o

'

+ asinx — 20 cos x>dx$—%
L {sin3x 3 K X i a
= a‘( +—.<;inx|—ac-::qx—209m,x &
L1240 L 3
5 ; . : 2
:)i.!zL—L—FE—U—GW—J(D—D—EO[]—D) G B
12 4 / K]
B:f :
= o ya-pne-2
12 . 3
= & +a-20 %!
= (A—dlla+ 5 =0
- _K 4 +x
= -5<a=<4

Sinee, 4 is a posilive ineger, hence [owr values of &
il 1, 2,3, 4) exist.

J e Yox " 9 1 0 e
43. {d) il VI = ii'_ = i—w— 4+ = hxTHE — + = XTI
ax X 2 2 2Ny @

———— "I +
X+ 5Ny g fl +
44, (1) Lo ili = ] &

2= Y ¥ - 008 X ‘—s-n\ll_cos-‘: _vl—()

x
45 (b Given, f{) = _Fﬂ tsing di
Omn differentiating w.r.t. x, we get '

I = xsin x by Leinnitz thearem}
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Solutions (. Nos. 45-18)

{c]

(a)

)]

-Bemaining amount =

A's amount = 500 xi —2=112;:

SFsamoumt=T123-F21=8 102

(A Kramoun = T123+ F102=T 226

TEOQ - T228=T47b
Dreamount =% 128 :
Csamount=% 128 + ¥18=

C's amount, = 147

T102
C gel 1he highoest amount T 1417,

Numbar 2 represents the educated, hardworking and
urban people.

T147

s amournt

Mumber 7 reprasents non-urban educated peos le who
are netrther hardworking nor honest.

Number 8 represents honest, educ
non-1trhan people.

Let the entire estate was T x.

ted and hardworking

{Daughter + Som's estate = %

. Daughter and son sharmq ratio 1s 4:3

1x
: DdLlLJ]‘IlDI' sestate =T = x— = —
7 14
3
Son's ewtate = T Lo g =¥ T)‘-
Ay 6
So, mother's estate=2x ¥ 7 =T
14 14
- ‘x Gx]
Iemaining sstate = x — —
(91 11/
13x ¥
=K m— f —
4 14

X 3
Then, 73 =500 = x=T7000
Supposc number of boys =h
1st boy dances with b girls {1 1 4 =H)
2nd boy dances with 8 girls 2 + & - 6
32d boy dances with 7 girls 3+ £ ="
Wb boy dances with tb + 1) girls
Henea, g - b+ 4

b h=g -4

Five years ago total age of husband and wife
=2éx¢g
=44 yr

Frasent age of husband and wife - 44 + 2 x5
=44 | 10 =54 yr
o Total age of the family =54 +3 =67 yr

Y
Hence, averarp: age of the family = ? — 18 yr

Availability of observable evidences will be aceeptable for
establishing a fact.

Soluntions (Q. Nos. 56-59}

(dh

=)}

(di

From the given information. we can deliniely say that B's
presentation will be immediately before (s presentation
and their presenfation tagether will be either pre tunch
or post lunwh. D is gither first or last scientist to presant
his paper. .

If C is fifth scicntist ta presant his paper, then 2 must be
fourth to present his paper becouse B's proscntation will
be immediately before C's preszotation.

We know Lhat 8 and C scicntisls presentation canmat be
separated by the lunch break, in this cose B could be
placed in third crder of presenters.

TFrom the given information, we dan say Lhat, IF is the
first. scientist and F is the second scientist, then C'can be

60.

882

64.

{cl

present in only either fifth ar siwrh place. As B and O
have 10 present in lwo cunsecutive position either nre
lunch or poest lunch.

If F and £ are titth and sixth scientists, thon 2 wdll be the
firsl sciantist, Band C will be the second and 1hird
preserers. Hence, A is the fourth presenter,

Solutions (Q. Xos. BU-G3)

=0 Pergoms | Dceupaién o] Male/Female | Relationship
Grandmather Lawver Female mu&izei?ifluw
Wukesh Teucher Malc
Rakeosh Teavker Male
Reeha Lawver Fernsla Hukesh's wife
Ajav - Male Muokesh's son
Mukeazh's wite Doctor 1. Temale | '

(c)

Rakesh's wife profession is ‘a lawyer

(bt Three male members in the family.

{h} We cannot determined Ajay's grandfather occupation.
) We cannot determined the profession of Ajay.
Sohations (Q. Nos G4-66)

Time takon for smrhmg school uniforms

ghanl 1§ € - { Button Stitching
“bay lower i 20min . B0 15 min
! e ;
Little flower{ 30 min | BO 30 min

)

Kumber of fabric cutters = 2
Nwnber of tailors =i
- Nurnher of assistants = 2
Each of them do tue work [or 10 b
Time duration for fahric cutters =2 =10 h
=20h
) -- 1200 min
Time duration for tailors =5 =1 h
=R h
= 3000 min
Timea duralion for button stitchers =2 x 10 h
=20h
= 1200 min

Maovimum number of Titke flowesr vniforms that can be
1200
=40

cul ina day =

Mastimmurn nuenber ul'L’tt]C’ flovwer uniformes that can be

SU00
gtitch in g day = —— =50
&0

Maximum number of Little Aower uniferms that can be

bu:lgned o day = L2l =11
30

Number of Little flower unifurns Lhut Mrs Thomas can
camplere in a day =40,

If Mrs Thomas decided to complele 20 Littie flower
Unifnrms.

Themn, titne duratwn fur falric cutters

~ 1200 = 20 =30}
= B0 min
Time douration for tailers = 3000 - (20 =60
= 1300 110
T'une duwratian for assistants = 1200 — {20 = 30
=500 min
Mearnce, number of May "lowcr i unlformq that can be
600 18500 BsUA
mmplpr?d in & day = minitmum of L—-——--- ¥ ]
20 a0 15

= minimum of {30, 30, £0) = 30
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66. (b} If Mrs Thomas hires one more assistants, then time 76. (c) A" < Brother p+  Wife g —(Drove)
duration for button stitchers w—s male
_ =1200 + (1 %10 x 6 = 1800 min { }
Hence, maximum May flower uniforms thart can be - —female
N -(1200 3000 1800 E* (Drove)
serpleitan e tapemi maEre 20 80 15 Hence, ¢ is definitely the other lady in the group.
= minimum of (60,50, 120) = 50 #. (d) The given patrern follows the three series.
67. (@ R I PP LE L 1 F E 1561 —2 581 ™61
414 1Ll ana 411 M -357 —i 343 — 12 4909
6 1 3 3 8§ 2 & 1 96 2 HI =50 1% 436 =14 on
BEE R 78. (d) Gi ion, 3-9 %27+ 9+3=3
. ven eguailon, 3—9 x27+ 8 +3=
Hence + & 4 4 4 4 o a _ _
From option (d}, interchanging the signs
31 8 8 2 6 3xg-27+9+3=3
B8. (b) Doctor go 1o see the patients before = 27-27+3=3
1:40 pm=1-40pm - 3:30 = 3=3
=13:40pm=-3:30h 79. by Let the present age of Pushpa be x yr. Then, the present
=10:10 am age of Fita would be (x - 2) yr.
Hence, required fime=10:10+1: 20=11:30am So. x=Z2d{x-2-2
6% () Only statements ({ii} and (i) logically follow the = x=2x -8
conclusion. = X =8y
; T ‘Thizrefore, the present age of Pushpa is 8 yr.
?l}.(b)lE: ‘A| ‘I: .
| i i ' 80). (b} Time from 8 am of a particular day to 1 pm eon the
1 2 3 4 5 6 tollowing day = 29 h. Now, the clock gains 10 min in 24
: S h, it means that 24 h 10 min of this clock is equal 10 24 h
Hence, number of ways =31 =3 of the correct clock.
=3x2x3x2 145
=36 & h ol this clock = 24 h of the correct clock
. {d) Numbers between 4 to 55 which are divisible by 3 and ' ) 24
contain 3 as one of the digits are 6, @, 12, 13, 15, 18, 21, 24 T of this clock = m x8 %28
23, 24, 27, 30, 31, 32, 33, 34, 35, 36, 37, 38, 38, 42, 43, N : .
= =28 h, 48 min of the correct clock
45, 48, 51, 53, 54 =27 numbers, : g Y
u i 2 _ 24 h of this clock = 28 h 48 min of the correct clock.
ence, remaining number =52 - 27 =25 ; £ i
EO It means that the clock in question is 12 min faster than the
72. (d) The patrern of the series is correct clock. Therefore, when clock indicates 1 pm the
103 correct time will be 48 min past 12,
5 12 19 33 47 75 81. (b) Answer figure (b} is correct subslitute of the problem
L 1 4L +1 . 4+ G LMPT figure (4).
* +f +14 H4 428 428 82. (c) According to the statements, Venn-diagram is
Hence, 104 is the wrong number. Top Conclusions
73, (b C's position from the top = bth + Gih 5th I]I- ¥
i
- S S PG G
C's position from the bottom'= 7th + 81h ! Gth IV- o
=13th ¥ " : ;
Hence, total number of students in the ciass C 83. () Accordnjlg to the statements, Venn-diagram is
S S IS Conclusions
={11+13 -1 '
=93 )y 6th 1. x
BT T 1 v
; : : Tth 0 Engineers
4. (b} Suppose, 2 + ¥ <4® (v 4+ 9«16} o e g
2‘3 33 o Bottom X
= + 3 <478+ 27<64) Lawyers Businessman
= 2* + 3* <4% (- 16 + B1 <266)
i : : that for higher value _ _
SR e pitt;-{n biesrelude that forhigheryanle 84. (a) According to the statements, Venn-diagrarn is
QN it ogn C?niiusmns
Then, X+Y¥<Z 0 x _
15. (a) According to the stalements, Venn-diagram is I % _
Conclusions N @ (‘\ Spanges)
I =
I v Glasses
1. x : )
V. x

Human
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85. (a} According to the staterments, Venn-diagram is
Conclusions i

86. (b} The ASCII code of A in decimal system is 65, which can
be written as 41 in hexadecimal system.

...... LA
4
= 65 = @1,; =41 H
B1. (c) We know that, n bit byle can represent (3" different

characters.
Hence, 8 bit byte can represent (E!)8 = 256 characters.

88. (b) Least significant bit is the only bit which is equal to odd
number in magnitude {20 =1
It represent any odd decimal number.
This bit must be included. So, in any an odd decimal
number least significant bit must be 1.

89.. (b) Given Venn-diagram
In Set theory. this Venn-diagram shows the following
expression

Zn{Xuwul) .-

al.

92.

93.

95.

102.
108.
114,
128.

We know that, in Boolean Algebra
M = AND operation = v = OR operation = +
From Eq. (i), the required Boolean expression is Z-(X + Y).

{d) The given Boolean expression is
Let E’zx‘(x+ Vi
SX- X4 XY “hy distributive law’’
=x+ 8-V by idempotent law’’
=x-11+ v “by distributive law'
= x-] “by boundness law"’
=X “by identity law”’
which is the requircd simptified form of E.
{b} From options

(i) A+ 1=11is boundness law
{ii} AA= A is idempotent law
{iiiy A + 0 = Als identity law
(W) A ={A% is invelution law
But A ~ A’is not a valid rule of Boolean algebra which is
valid ip matrix and is called symmetric matrix.
{}y When two binary numbers are added, then an overflow
will never occur if, the carry into the sign bit position
is 1
(a 11010
+ 01111
101001

{a) TCP/IP = Transmission Control Protocol/Internet Protocol.
{) We know that, 1 petabyte = 2" bytes
10" =1000 Terabyte

.- Terabyte = 230 » 1012)
¢y 9y 9. 99 100. (& 101 (»
() 103. ta) 104. (by 105. by 106. (o) 107, (a}
i 109, @) M0 (& 111 @ 112 1 13 @)
@ 115 ta) 116. (cv 117 () 118. () 119. (@)
{c}
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